»» O0000 00

w4

b2l

FR

s

E

&b
He

oA

57

E2)

P e
A
RS

I

VIR 2020 45745 32 02805 o 10 g

1] — R ¥
(&N [E] 90 7%, ¥ 100 73D
e - = 7y il N Ay
135y
—. E<0O0%. (105
24+4= 79-70= 64+12= 25-12+43=
45-5= 74-52= 95-23= 62+13-31=
—. BSEE (169
36+41= 97-65= 62+7= 98-30=
34+51-61= 88-46+31=
= BSE. (24
1. 5 79 tHABHI 2 ( ) Al ( Do
2. 99 [T — M2 ( ), Jali—MuE ( Do
3. 1E 24, 96, 2. 13 54, 75. 66+ 100 X EHdr, — A HH ( ),

R BENE Ful JLa

WAL ( Do —HIEH (

& ( ), BN ( Do

4. /RS KB Z AZ ( Do
i KPS o RI— iz %272 ( Do

5. tE 23 K6 HHuE ( ), F 98 /16 IIHUZ (

85 [k 43 £ (

m. £ BHEE “>” “<”F “=", (104

5201 8105 10080 21 (7

35+12 ()54 100 () 36+42-50 21()86-50

. BeH. 45H)

), 46 Lt 98 b (

Do IKIHIEL

85
™~

49
PR
40

20 30 55 53

45

. Betkst. EOEHEE “+7 5 “-7. (69)

98(_)35=63
s0=76( )26

ssO 25=61
56 O43=13

. & ( ) BHEEAEME. (654
12+ ( ) =39 47— ( ) =24 53+ (
45= ( ) +23 48= ( ) —20 59=99— (
N BEHRAPET. (49
1. 34, 36, 38, ( )\ ( )\ ( Do
—EEFECAT NS H2 0l L4




2. 80, 75, 70, ( )\ ( )\ ( Do
3 A A 0OO0aAa A ) ( ) ( )

4. o l am ( ) ( ) ( )
A~ ﬁAﬁ#ﬁ§ (8 ﬁ')

OA

I ( ) A KA ( ) A
H# ( ) A =fAa ( ) A
(D ¢ ) %, ( ) b

(2) FbHtRZHID ( ) A é“&

(3) HPHIHRZ A ( ) A
+. HSARGE. @D

1. fEEFEE—ANE, 2. EREFEHE—> =M.

3. ERER FE— M. 4. AERITTERATLE— N ETTE. .

—ERHEAWITR)RINE H3 T a4

+—. EEVRIHE. 45

24 MEHR 12 NSpEH 32 M ? A
1 ) 1\ v J
% 75

om- O

+=. fREE, (124)
1.  BEE T 65 JuEREIK, [T4ARE 50 7T, R/ ?

2. —EERFAEN, —YHE 135 B, THHE 7 40 AR, P EEER 2P

3. —AMES, INIET 67 T, /IMKE T 64 UL, /IMRELINAELT?

4, /NJTHVNE—kEBkas, ANk T 52 8, AL ZEET R, AR T

EZNE

—EEFECAT NS Ha Tl JEa T



